

Adrianne Elizabeth Williams

MAT 104

19/MH501/018

MH3/MBB3

For the curve from equations 1 to 5, at the points given
Equation of the tangent
Equation of the Normal

$y = 2x^2$ at the point $(1, 2)$

$y = 3x^2 - 2x$ at the point $(1, 1)$

$y = 2x^{1/2}$ at the point $(1, 1)$

$y = 1 + x - x^2$ at the point $(-3, 5)$

$y = \sqrt{x}$ at the point $(3, \frac{1}{2})$

Solution

$y = 2x^2$; Point $(1, 2)$

$\frac{dy}{dx} = 4x$

Gradient at $x = 1$

$\frac{dy}{dx} \Big|_{x=1} = 4(1) = 4 \quad m = 4$

$x = 1, y = 2$

Equation of a tangent

$y - y_1 = m(x - x_1)$

$y - 2 = 4(x - 1)$

$y - 2 = 4x - 4$

$y - 4x + 2 = 0$

$y - 4x + 2 = 0$

Equation of the tangent = $y - 4x + 2 = 0$

Equation of normal

$m_1 \cdot m_2 = -1$

$4 \cdot m_2 = -1$

$m_2 = -\frac{1}{4}$

$y - y_1 = m_2(x - x_1)$

$y - 2 = -\frac{1}{4}(x - 1)$

$\frac{y - 2}{1} = \frac{x - 1}{4}$

$4(y - 2) = x - 1$

$4y - 8 = x - 1$

$4y + x - 7 = 0$

Equation of the normal

$4y + x - 7 = 0$

①

10] $y = 3x^2 - 2x$ at the point $(2, 7)$

$$\frac{dy}{dx} = 6x - 2 = 12 - 2$$

∴ find the gradient at $x = 2$

$$\frac{dy}{dx} \text{ at } x = 2$$

$$m = 12 - 2$$

$$m = 10 - 2$$

$$m = 8 - 2 = 6$$

Equation of a tangent

$$y - y_1 = m(x - x_1)$$

$$y - 7 = 6(x - 2)$$

$$y - 7 = 6x - 12$$

$$y - 6x + 5 = 0$$

$$y + 5 - 6x = 0 \text{ or } y - 6x + 5 = 0$$

Equation of the tangent $\Rightarrow y - 6x + 5 = 0$

Equation of the Normal

$$m_1 \cdot m_2 = -1$$

$$6 \cdot m_2 = -1$$

$$m_2 = -\frac{1}{6}$$

$$y - y_1 = m_2(x - x_1)$$

$$y - 7 = -\frac{1}{6}(x - 2)$$

$$6y - 42 = -x + 2$$

$$6y + x - 44 = 0$$

Equation of the Normal $\Rightarrow 6y + x - 44 = 0$

(2)

iii) $y = x^{3/2}$ at the point $(-1, -1/2)$

$$\frac{dy}{dx} = 3x^{1/2}$$

find the gradient at $x = -1$

$$\frac{dy}{dx} \Big|_{x=-1} = 3$$

$$m = 3x^{1/2}$$

$$m = 3(-1)^{1/2} = 3$$

Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y + 1/2 = 3(x - -1)$$

$$y + 1/2 = 3x + 3$$

$$y + 1/2 - 3 = 3x = 0$$

$$y - 3x - 2 1/2 = 0$$

Equation of the tangent $\Rightarrow y - 3x - 2 1/2 = 0$

Equation of the Normal

$$m_1 \cdot m_2 = -1$$

$$3 \cdot m_2 = -1$$

$$m_2 = -1/3$$

$$y - y_1 = m(x - x_1)$$

$$y + 1/2 = -1/3(x + 1)$$

$$y + 1/2 = -1/3x - 1/3$$

$$y + 1/2 + 1/3 + 1/3x = 0$$

$$y + 1/3x + 5/6 = 0$$

Equation of the Normal $\Rightarrow y + 1/3x + 5/6 = 0$

3

V.7 $y = 1 + 2x - 2x^2$ at the point $(-2, 5)$

$$\frac{dy}{dx} = 1 - 2 \cdot 2x$$

Gradient at $x = -2$

$$\frac{dy}{dx} \Big|_{x=-2}$$

$$M = 1 - 2 \cdot 2x$$

$$M = 1 - 2(-2)$$

$$M = 1 + 4 = 5$$

Equation of a tangent

$$y - y_1 = M(x - x_1)$$

$$y - 5 = 5(x + 2)$$

$$y - 5 = 5x + 10$$

$$y - 5x - 5 - 10 = 0$$

$$y - 5x - 15 = 0$$

4

Equation of a tangent = $y - 5x - 15 = 0$

Equation of the Normal

$$M_1 \cdot M_2 = -1$$

$$5 \cdot M_2 = -1$$

$$M_2 = -1/5$$

$$y - y_1 = M(x - x_1)$$

$$y - 5 = -1/5(x + 2)$$

$$y - 5 = -1/5x - 2/5$$

$$y + 1/5x - 8 + 2/5 = 0$$

$$y + 1/5x - 13/5 = 0$$

Equation of the Normal: $y + 1/5x - 13/5 = 0$

8) $y = 1/x$ at the point $(3, \frac{1}{3})$

$$\frac{dy}{dx} = x^{-1} = -1x^{-2}$$

find the gradient at $x = 3$

$$\frac{dy}{dx} \text{ at } x=3 \quad m = -1 \times 3^{-2}$$

$$m = -1 \times \frac{1}{9}$$

$$m = -\frac{1}{9}$$

Equation of the tangent

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9y - \frac{1}{3} \times 9 = -x + 3$$

$$9y - 3 = -x + 3$$

$$9y + x = 6$$

Equation of the tangent $\Rightarrow 9y + x = 6$

Equation of the Normal

$$m_1 \cdot m_2 = -1$$

$$-\frac{1}{9} \cdot m_2 = -1$$

$$m_2 = \frac{-1 \cdot 9}{-1}$$

$$m_2 = 9$$

$$m_2 = 9$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

$$y - 9x - \frac{1}{3} + 27 = 0$$

$$y - 9x + 26\frac{2}{3} = 0$$

Equation of the Normal $\Rightarrow y - 9x + 26\frac{2}{3} = 0$